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Section : English Language (Basic Knowledge)

Q.1 Identify the segment which contains a grammatical error.

The old woman in our locality is knowing for her hot temper.
Ans J 1. is knowing for

x 2. her hot temper
X 3. The old woman

X 4. In our locality

Question ID : 8161613446
Status : Answered
Chosen Option : 1

Q.2 Select the most appropriate synonym of the given word.
Delinquent
Ans x 1. Despairing
x 2. Rewarding
X 3. Charming
J 4. Offending

Question ID : 8161613466
Status : Answered
Chosen Option : 4

Q.3 Given below are four sentences in a jumbled order. Out of the given options pick the
one that gives their correct order.

A. Add the product to your shopping cart.

B. Select the brand you like.

C. Enter the card details and buy the product online.
D. Look for the product you want to purchase.

Ans X 1. ABCD
75 2.BCDA
75 3.DACB
o 4. DBAC

Question ID : 8161613454
Status : Answered
Chosen Option : 4
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Q.4 Select the correct antonym for the given word.
Formidable
Ans x 1. Appalling
W 2. Trivial
x 3. Scary
X 4. Dangerous
Question ID : 8161613459
www.HaryanaJobs.in Status : Answered
Chosen Option : 4
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
The two men bowed to one (1) and parted. Tom found himself in a difficult (2)
He was going to (3) three duels in a (4) of three hours. "Even if | am killed, it
will be a (5) death," he thought.
SubQuestion No : 5
Q.5 Select the most appropriate option to fill in the blank no.1
Ans B 1. other
x 2. each
“ 3. another
X 4. self
Question ID : 8161613449
Status : Answered
Chosen Option : 3
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
The two men bowed to one (1) and parted. Tom found himself in a difficult (2)
He was going to (3) three duels in a (4) of three hours. "Even if | am killed, it
will be a (5) death," he thought.
SubQuestion No : 6
Q.6 Select the most appropriate option to fill in the blank no.2
Ans B 1. location
X 2. relation
' 3. situation
x 4. station
Question ID : 8161613450
Status : Answered
Chosen Option : 3
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Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
The two men bowed to one (1) and parted. Tom found himself in a difficult (2)
He was going to (3) three duels in a (4) of three hours. "Even if | am killed, it
will be a (5) death," he thought.
SubQuestion No : 7
Q.7 Select the most appropriate option to fill in the blank no.3
Ans 3 1. think
o 2. fight
x 3. participate
x 4. figure
Question ID : 8161613451
Status : Answered
Chosen Option : 2
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
The two men bowed to one (1) and parted. Tom found himself in a difficult (2)
He was going to (3) three duels in a (4) of three hours. "Even if | am killed, it
will be a (5) death," he thought.
SubQuestion No : 8
Q.8 Select the most appropriate option to fill in the blank no.4
Ans X 1. difference
x 2. place
x 3. time
“ 4. matter
Question ID : 8161613452
Status : Answered
Chosen Option : 3
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
The two men bowed to one (1) and parted. Tom found himself in a difficult (2)
He was going to (3) three duels in a (4) of three hours. "Even if | am killed, it
will be a (5) death,” he thought.
SubQuestion No : 9
Q.9 Select the most appropriate option to fill in the blank no.5
Ans x 1. labarious
« 2. glorious
X 3. spurious
x 4. curious
Question ID : 8161613453
Status : Answered
Chosen Option : 2
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Ans

Flying off the handle
K 1. Having lofty ideas

x 2. Day dreaming

J 3. Suddenly becoming enraged

K 4. Flying away, being launched from a handle

Q.10 Select the most appropriate meaning of the given idiom.

Question ID : 8161613461
Status : Answered
Chosen Option : 2

Ans

Q.11 Select the correct antonym for the given word.

Identical
75 1. Indistinguishable

« 2. Different

?( 3. Corresponding

75 4. Similar

www.HaryanaJobs.in

Question ID : 8161613458
Status : Answered
Chosen Option : 4

Ans

Something like an opening, particularly one in the body such as a nostril

K 1. Obscure

( 2. Orifice
75 3. Obtuse

K 4. Oblique

Q.12 Select the word which means the same as the group of words given.

Question ID : 8161613465
Status : Answered
Chosen Option : 4

Ans

To cost an arm and a leg

x 1. Not readily available
K 2. To give away an arm and a leg
J 3. Very expensive

x 4. Easily affordable

Q.13 Select the most appropriate meaning of the given idiom.

Question ID : 8161613460
Status : Answered
Chosen Option : 3
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Q.14 In the sentence identify the segment which contains the grammatical error.

When Harry come back home, he saw blood everywhere.

Ans « 1. come back home

x 2. he saw

x 3. blood everywhere

?( 4. When Harry

Question ID : 8161613447
Status : Answered
Chosen Option : 1

Q.15 Select the wrongly spelt word.
Ans « 1. Conviencing

x 2. Commemorate
x 3. Conveyance

X 4. Concussion

Question ID : 8161613462
Status : Answered
Chosen Option : 3

Q.16 Select the most appropriate word to fill in the blank.

The government enterprises were privatized as they were heavy losses on a
daily basis.

Ans " 1. demanding

( 2. incurring

X 3. containing

?{ 4. earning

Question ID : 8161613468
Status : Answered
Chosen Option : 3

Q.17 Select the wrongly spelt word.
Ans x 1. Voluntary

( 2. Voracous

x 3. Valour
75 4. Video

Question ID : 8161613463
Status : Answered
Chosen Option : 3
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Q.18 Select the most appropriate word to fill in the blank.

The yoga instructor was at the student's flexibility.
Ans « 1. amazed

x 2. angry

75 3. disturbed

25 4. ridiculed

Question ID : 8161613469
Status : Answered
Chosen Option : 1

Q.19 Select the correct passive form of the given sentence.

The police arrested the thieves yesterday.

Ans x 1. The thieves were being arrested yesterday by the police.
?( 2. The thieves had been arrested yesterday by the police.
« 3. The thieves were arrested yesterday by the police.

x 4. The thieves have been arrested yesterday by the police.

Question ID : 8161613444
Status : Answered
Chosen Option : 3

Q.20 Select the correct indirect form of the given sentence.

Peter said, "He broke his glasses."

Ans « 1. Peter said that he had broken his glasses.
x 2. Peter said that he is going to break his glasses.
x 3. Peter said that he is breaking his glasses.

?( 4. Peter said that he break his glasses.

Question ID : 8161613445
Status : Answered
Chosen Option : 2

Q.21 Select the most appropriate synonym of the given word.

Prodigious
Ans 1. Exciting

?( 2. Unimportant

K 3. Proud

( 4. Immense

Question ID : 8161613467
Status : Answered
Chosen Option : 2
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Ans

Q.22 Given below are four sentences in a jumbled order. Out of the given options pick the
one that gives their correct order.

A. The police suspected the man to be a thief.

B. Then the trial began in the court.

C. He was soon arrested by the police.

D. The thief was sentenced to two years’ imprisonment.

75 1.DCAB
75 2.BCDA
o 3.ACBD
75 4.BACD

Question ID : 8161613455
Status : Answered
Chosen Option : 3

Ans

Q.23 Select the word which means the same as the group of words given.

Something that is extremely unpleasant

( 1. Horrendous

X 2. Humorous

x 3. Humane

K 4. Heightened

Question ID : 8161613464
Status : Answered
Chosen Option : 1

Ans

Q.24 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

The Dean said, "You can have neither jam nor butter, but not both."”

x 1. No improvement.
K 2. jam and butter
J 3. either jam or butter

x 4. no jam or butter

Question ID : 8161613456
Status : Answered
Chosen Option : 1

Ans

Q.25 Select the most appropriate option to substitute the underlined segment in the given

sentence. If there is no need to substitute it, select No improvement.

Tons of sheep were grazing in the field.

J 1. Aflock of sheep
x 2. No improvement.
X 3. Numerous sheeps

x 4. Many sheeps

Question ID : 8161613457
Status : Answered
Chosen Option : 1

Section : General Intelligence
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Q.1 Four numbers have been given below. out of which three are alike in some manner and ene is different. Select the
number that i= different from the rest.

132, 17523, 3164, 2685
Ans  of 1. 3164
X 2 2685
X 3 17523
X 4 132

Question ID : 8161613476
Status : Answered
Chosen Option : 1

Q2 wx BT T o # Wand & 240153 3T Curd & 420183’ Rrar e §) 5% s79r & ‘East'
T fEEr Ser?

Ans - X 1421821
v 2 602019
X 3421719
X 4 612120

Question ID : 8161613479
Status : Answered
Chosen Option : 2

Q3 = = e fow A F O @ O 0 T B o ® ww £ ot o e ¥ 5w e
IS, T T hIIT

Ans x1_ EI:IJ?EEUW
X 2 Gedre
v o FHESET
?{4.3‘[@}-

Question ID : 8161613486
Status : Answered
Chosen Option : 3

Q.4 select the option in which tie numbers ara related in the same way as are the numbers in the given set.

(13,133, 6)

Ans % 1. (10, 8, 6)
X2 (3,4,2)
W 3 (9,65, 4)
X4 (11,122,2

Question ID : 8161613474
Status : Answered
Chosen Option : 4

https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQPHTMLMode1//220702090/220702090S27D90857/16038869457925325/2...  8/30



11/6/2020 https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQPHTMLMode1//220702090/220702090S27D90857/160388694...

Q.5 Inthe Venn diagiam given below, the “Clrcle’ represents *boys's the ‘Triangle’ represents *marvied’, and the *Square’
represants ‘the persons who own pats’, Then selectthe arsa which represents boys whe are marrled but do not own pets?

>

H
X X
N
b oy

Question ID : 8161613494
Status : Answered
Chosen Option : 3

Q.6 Apipe canfill a leak-proof tank completely in 24 hours. A leakage at the midpolin of Same size tank empties half the
tank in 36 hours. How muich time will it take ro £ill this tank with the given pipe?

Ans X 1. 14.4 hrs
X2 72 hrs
X 3. 18 hrs
W 4 30 hrs

Question ID : 8161613470
Status : Answered
Chosen Option : 4

Q.7 Select the oprion thar |5 related to the third sumber in the same way a3 the secand number s ralated 1o the first number.

A AT e
Ans 1. 125
X2 64
v 8
X4 124

Question ID : 8161613472
Status : Answered
Chosen Option : 2

Q.8  Select the option that is related to the third word in the same way as the second word is related to the first word.
India : Dellu o Tharkhand : 7
Ans X 1. Dispur
v 2. Ranchi
/< 3. Bhopal
X 4 Bhubaneshwar

Question ID : 8161613481
Status : Answered
Chosen Option : 2
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Q.9 Four lemer-chisters have been given, out of which thrae are alike in some manner and one is different. Selact the odd
letter-cluster.

CEW ,DFU . HIR . KMO
Ans  of 1. DFU
X 2 KMO
X 3 HIR
X 4 CEW

Question ID : 8161613485
Status : Answered
Chosen Option : 2

Q.10 select the oprion thart is related to the third letter-cluster in the same way as the second latter-cluster is related to the first
letter-cluster.
CDE : XWV :: HIT+ ?
Ans X 1. NOP
J 2. 5RQ
X 3. PON
X 4 QRS

Question ID : 8161613480
Status : Answered
Chosen Option : 2
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Ans
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Question ID : 8161613492
Status : Answered
Chosen Option : 1
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Q.12

Ans

Read the given statements and conclusions carefully, Assuming that the information given in the statements is tre, even
ifit appears to be at variance with commanly known facts, decide which of the given Iusions logically followi=)

from the statements.

Statements:

L. Al workers are honest,

2. Few of my friends are workers.
3. All my friends are honest,
Conclusions;

L All my friends ave workers.

IL All workers are my friends.

1. All my non-worker friends are honest.

o 1. Only conclusion III follows.
2 2. Only conclusions I and III follow.
< 3. Only conclusion II follows.
X 4. Only conclusions I and II follow.

Question ID : 8161613487
Status : Answered
Chosen Option : 3

Q.13

Ans

Select the number that can replace the question mark (?) in the following series.
=186 B 519

v 38

X2 48

X3 -38

X 448

Question ID : 8161613475
Status : Answered
Chosen Option : 1

Q.14

Ans

If * + " means *multiplication”. * % * means “division®, * + * means ‘subtraction’, and'—" means ‘addition’, then find the
value of the following expression.

48 +12 X 3-6+ 3

v 62
X209

X 3. 150
X 4 30

Question ID : 8161613471
Status : Answered
Chosen Option : 4
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Q.15 Select the option figure that can replace the question matk (?) in the following series.

IR

W

Ans

Question ID : 8161613489

Status : Answered

Chosen Option : 1

www.HaryanaJobs.in
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Ans

X 2

®
=<

> 3.

)

.
LB

Question ID : 8161613493

Status : Answered

Chosen Option : 4
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Q.17  Shraddha says to Sharayu. “Your mother-in-law is my father's mother who is eldest son. but your
hmshand is not my father ” How is Sharayn related to Shraddha?

Ans X 1. Mother
v 2. Aunt
/< 3. Daughter
X 4 Niece

Question ID : 8161613483
Status : Answered
Chosen Option : 2

g st et Pge 2

Ans X116
X220
v 24
X 4 28

Question ID : 8161613490
Status : Answered
Chosen Option : 1

Q.19 Select the combination of letiers that when s2quentially placed in the blanks of the given latier series will complete the
Reries.

ac bac andaed

Ans X 1. cbdcabada
v 2. dadbcbaba
X 3. bedbedaba
2 4 acbdedabe

Question ID : 8161613482
Status : Answered
Chosen Option : 2
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Q.20 Twodifferent positons of the same dice are shown. Select the number that will be on the face opposite 1 the one
laving ‘6",

6 2

3

Ans  of 1
x5 2
X 3.
5 4

= th . bd

Question ID : 8161613488
Status : Answered
Chosen Option : 1

Q.21 salect the option in which the numbers ara related in the same way as are the numbers in the given set.
(23,59, 18)
Ans  of 1. (71, 83,21)
X 2 (9,92, 24)
X 3. (43,59, 67)
X 4. (24, 68, 46)

Question ID : 8161613473
Status : Answered
Chosen Option : 4

Q22 Select the option that represents the words in a logical sequence.
Ans % 1. Mouse — Peanut — Eagle — Snake

' 2. Peanut — Mouse — Snake — Eagle

X 3. Mouse — Snake — Peanut — Eagle

/< 4 Eagle — Snake — Peanut — Mouse

Question ID : 8161613477
Status : Answered
Chosen Option : 2

Q.23 [nacertain code language. 'salnte’ is written as 'lvamet’. How will ‘mango’ be written as In that language?

Ans X 1. uhobn
/< 2. uhpen
v 3. uhoen
75 4. phobn

Question ID : 8161613478
Status : Answered
Chosen Option : 2
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Q.24 Select the option in which the given figure is embedded. (Rotation is not allowed)

Ans x1_

N/
VAVAYAR
T

X 2

v

K 4

Question ID : 8161613491
Status : Answered
Chosen Option : 3

Q.25 Select the option in which the words share the same relationship as that shared by the given pair of words.

Chief Justice : President

Ans  of 1. Municipal Commissioner : State Government

X 2. Chief Minister : Cabinet Minister
/X 3. Corporator : Mayor

7< 4. Chief of Army Staff : Prime Minister

Question ID : 8161613484
www.HaryanaJobs.in Status : Answered
Chosen Option : 4

Section : Quantitative Aptitude(Basic Arithmetic Skill)
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Q1 ofx cotA = tan(2A — 45°) ¥, A wH 7 FO7 §, & tanA F smeTdl
Ans K1- 0
. 1
52 .=
2
UAR
X+ V3

Question ID : 8161613514
Status : Answered
Chosen Option : 2

Q2 zfx varer 30 km/h #¥ =rer & ghzar T 500 m A gF FT =S F 37 B Bae w2

Ans 1

XK1

1

X227
V1
K42

Question ID : 8161613496
Status : Answered
Chosen Option : 3

Q3 mmrgﬁx;srapanmmL%;aﬁ-Pa=1smh%,a‘rpi_#s'mr§‘amrr&a’%ﬁ?
A W1 6v3 em

X253 cm

X333 em

X 4 443 em

Question ID : 8161613507
Status : Answered
Chosen Option : 1
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Q4 Rw v & T F HeTTS F X T AT T H 3K &

R (2 w=E )

124

118 =i
109 7] =
98 []

(x 7 #)

=

2008 2009 2010 2011 2012 2013 2014

End
ﬁaﬁaﬁsﬁgﬂmﬁ,ma&ﬁﬁmﬁﬁmmmqﬁgém
Ans X 12012
X 2 2014
X 3 2010
v 4 2009

Question ID : 8161613519
Status : Answered
Chosen Option : 3

Q5 gz site R v F e Ty PREe 20 Rt o a we ¥ ot s s B ek Rerw
25 Tewll & W7 S0 FRAT &1 Yol S Hibol §F FIH H T e # b foF o9 §hd 87

A X190 R
X 2110 Re
V'3 100 R’eT
X+ 80 R

Question ID : 8161613495
Status : Answered
Chosen Option : 2

Q6 zfr secB + tanB = r &, & sec B — tan B FT HIA F TET
Ans ?’(1.{}

K2 —r

< 3

v e

Sl =

Question ID : 8161613515
Status : Answered
Chosen Option : 2
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Ans ?‘(1_ 2

4
vsg
B

Q7 zfra +2b = 10 3R 2ab = 9 &, & la — 2b)| F Wt

Question ID : 8161613508
Status : Answered
Chosen Option : 3

Ans X1 24
X216
X34
v

Q8 R 4x2 +y2 =40 AT xy = 6,(x > 0,y>0) 'gﬁ', ar 2x+y FAST g

Question ID : 8161613509
Status : Answered
Chosen Option : 1

AT T F e g 29 gi?
Ans X 1. %1,715

X 271,700

X 3 71,705

v+ %1,710

Q.9 sfirg 14% FEF 27 | FRIOT FWF W AT ¥ 71,500 I A £ 1 7 9%, TOTIFR F Bw Ahm

Question ID : 8161613503
Status : Answered
Chosen Option : 2

T cBAP =125° % @1 £AQF & mmed)
Ans X 1. 60°
v 2 550
X o 450
X 4. 50°

Q.10 a—g‘rommﬁﬁﬂgAwwmﬁﬁmPQ#(mmﬁgﬁwmmﬁl

Question ID : 8161613504
Status : Answered
Chosen Option : 4
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1 goft 537 5%, 10%, 15% 3HX 20% + THGET TH T &
Ans X 1. 42.88%

v 2 41.86%

X 5 43.86%

X 4 40.86%

Question ID : 8161613499
Status : Answered
Chosen Option : 2

12 925 4 9264 97 RpmfafRa & @ B Rusw B2
Ans x1_5 -
Vo7
X339
X486

Question ID : 8161613511
Status : Answered
Chosen Option : 3

Q13 3z p ¥ Q 7 &) geAT & Breww Fn 7 om HT 3 em ¥, W Rg A T T gE B wErs T
e §1 BC o 3emfess 3ee 4@ (direct common tangent) ¥, ST B #iR C w3t W Rg
BC #1 & TS &

Ans K1 34y21 em
K 2 4421 cm
X3 {21 cm
v 4 2421 em

Question ID : 8161613505
Status : Answered
Chosen Option : 4

1% 5in238° — cos?52° = A g
Ans K1_ 1
1
Ko2—
V2
X5z

v 0

Question ID : 8161613513
Status : Answered
Chosen Option : 2
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Q1S oy fr <te i TR F AT 1 : 8 ¥ 3R RS 1 R 363em? ¥ A
g i e T e

Ans X 112 cm
<210 cm
X313 cm
Vi1l em

Question ID : 8161613497
Status : Answered

www.HaryanaJobs.in Chosen Option - 1

1% _77 + 800+ [83 — {8 X 9 + (18-3 X 5)}] # AA &
Ans ?’(1_ 26

v 23

X s 24

X4 25

Question ID : 8161613512
Status : Answered
Chosen Option : 1

QA7 for aw senE 7 A & T ¥ @7 3T &)
ot =€ o FfAET (Companies) U, V. X, Y 3t Z ¥ B Bl axg & = it s
(HfEw T ) = Fe g

500
asaly

o 3% ® Cemand

@i e A
§
§

i

=R Fver U % e =a7g & #F1(Demand) & p%, %967 Z & BT 58 9%7 ¥ Je7ea (production) &
AT §, A7 p F T S g

Ans  of 175
X2 85
X 3 65
X 4 BB

Question ID : 8161613516
Status : Answered
Chosen Option : 4
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s et 2

Ans ¢ 1 T ,2.1-'5,5_0{]'
X 2 ¥3,45,600
W 3 2,45,600
X 4 T4,45,600

Q18 Ry rqgyw s F 35,59,958 F wER v FE &, S WA afiE 3w AT 19% ¥ TR ARE

Question ID : 8161613500
Status : Answered
Chosen Option : 2

Ans X1 g7°
X 2 66°
V'3 69°
X 4 68°

Q.19 ARST #¥ #5T ST #¥ P o Far 741 31 Iy 4RTP— 115" 3T 25— Z2p §, A R Hr 77 &

Question ID : 8161613506
Status : Answered
Chosen Option : 4

ﬁ%iﬂgﬁmﬁ%’?

Ans “1423&
K241 a8
X3 40 ¥
X443 3§

Q20 o areet sitt 3w 7T F T AT 60 TN IR AT AT I FIRM A3 : 7

Question ID : 8161613498
Status : Answered
Chosen Option : 1

RT?
Ans K1 40%
v 2. 50%
X3 30%
X+ 60%

Q21 os waf= 9 60 G, S qa 160 Wi gEw & Wi 3 T A ¥ 50 gEA EA 4% g
¥ & & R Avew & 5% @ W #A 4 9%, 3H 9 gFas B Fraw sfoue oy 9T dme

Question ID : 8161613501
Status : Answered
Chosen Option : 4

https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQPHTMLMode1//220702090/220702090S27D90857/16038869457925325/...

23/30



11/6/2020 https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQPHTMLMode1//220702090/220702090S27D90857/160388694. ..
Q2 ¥ (a+3b): Qa+4b)=3:5 g, a (a-b): (a+b) % saxi
Ans X 1.31:2
v21:2
#3221
X42:3

Question ID : 8161613502
Status : Answered
Chosen Option : 2

A28 B ov g7 3N FT 3eTTF FL HR 99T F a7 &

&R 1 ffE (x F03 )

i TR
109 [

98

85
72

(z 05 #)

0| 2008 2009 2010 2011 2012 2013 2014

¥

e & @ B ot &, & = ailwm e T12 =T & Geeaw A

Ans X 12011 3ir 2012

X 22012 3T 2013

X 32010 3t 2011

v 4+ 2013 3t 2014

Question ID : 8161613518
Status : Answered
Chosen Option : 2

O A a® + 277 +642° = 36xyz A, A vy @Rz F wEw &
Ans

Xix+y+z=0
w2x+3y+4z =10
XK3x+3y=4z
Kix—3y+ 4z =10

Question ID : 8161613510
Status : Answered
Chosen Option : 3
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Q.25 fxoaw & i w7 wemne w1 et ge oI
e gy #fEw T (fecilnecs) s falier ant § seEe

"
o

o
i "
an
“ "
e ‘ ‘

" _‘

=01 e

"

b

5

T (M0M0 T ]

Her  peE 0o o 2007 2008

F ganr A s w7 o 2008, 2006 s 2008 F I IS F AW 2001, 2002, 2008 T
2004 & B S & e &

Ans of1.6:5
X25:86
X34:3
X4+3:4

Question ID : 8161613517
Status : Answered
Chosen Option : 3

Section : General Awareness

Q.1 ;ﬁ%m%@aﬁﬁmmﬁ,m%mﬁ%mﬁﬁm(monazite)ﬁm‘fﬁﬁw
?

Ans X 1. ISR

75 2. TR
X 3. IREs
W 4 3
Question ID : 8161613535
www.HaryanaJobs.in Status : Answered
Chosen Option : 3
Q.2 ﬁgw%mmhom)?ﬁmuﬁﬁmmﬁaﬁwﬁwﬁ?ﬁﬁaﬂw{hﬁ
HA™T ST B |

Ans B 1. 3NTSCH (Ashokastami)
x 2. T8I Il (Lampra Puja)
o 3. 9-SH-A-5) (Me-Dam-Me-Phi)
25 4. I (TirthaMukh)

Question ID : 8161613523
Status : Answered
Chosen Option : 4

Q3 iR, diew 3R Tew Rra g | fRa §
Ans X 1. 3T

25 2. sy R
W 3 7w
X 4. dfrerrg

Question ID : 8161613533
Status : Answered
Chosen Option : 3
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Q4 T 2020 ¥, YR PR A I PRI & AT i SYR W F1 T¢T B DA o TG,
ITE (GSDP) BT % B fear g1

Ans ?’(1_3
W25
X 37
X 4.10

Question ID : 8161613528
Status : Answered
Chosen Option : 4

Q.5 2020 & SRS 7% faaw &1 fawa (ofi\) 7w 12
Ans B 1 WRY TH AHAMUSR § (Health is a Human Right)

o 2. s e & g ARAT (Nursing the World to Health)
75 3. 9qd fawTg A& I U HIAT (Achieving the Sustainable Development Goals)

25 4. @t & fTw W (Health for All)

Question ID : 8161613525
Status : Answered
Chosen Option : 1

Q.6 U.3MT3.3MR 3TUP GR (FIR Aapke Dwar)’, Ush T HRIHH § 1P dgd gierd it
w%wwuuﬂmﬁﬁ(nk)aﬁﬁ,sﬁnﬁzozoﬁ T H =
T AT

Ans O 1 IR U
X 2 e
W 3 Ty
X 4. 7RIy

Question ID : 8161613526
Status : Answered
Chosen Option : 1

Q7 YRa S TYH BsTaf s sAqa A fwaran
Ans " 1. ST SRIIE

25 2. Tiurd Fwr e

X 3. Apu faee

W 4 FF FRTH

Question ID : 8161613541
Status : Answered
Chosen Option : 4

Q.8 1UerETse (PB)=1024 |
Ans ?{:’ 1. TSy (EB)

X 2. TfeTseE (GB)

/X 3. 9creaTsey (zB)

o 4. ReEeE (1B)

Question ID : 8161613520
Status : Answered
Chosen Option : 3

https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQPHTMLMode1//220702090/220702090S27D90857/16038869457925325/...  26/30



11/6/2020 https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQPHTMLMode1//220702090/220702090S27D90857/160388694...

Q9 FiygTgeRRAWE A fR@Eel
Ans X 1 ISRITH

2K 2. sy e™

W 3 TEwx

/K 4. ImES

Question ID : 8161613532
Status : Answered
Chosen Option : 1

Q.10 fmfifad & | 19 A ®I€, S 2020 96 31 RN F AFAR g I Y F =79 tRIgR
wyal B mfa T F?
Ans o 1 &7 B TETY
25 2. 3rSi B T
75 3. Telither 3t T
X 4. TR B qwTg

Question ID : 8161613522
Status : Answered
Chosen Option : 1

Q.11 e ared §is P Ads 7, 7dav 2019 7, Fufifaa # @ frw 3¢ & 91y 2 919
P 3afy 3G a8 BUI F Y Uw BRR far 82

Ans  BC 1 T9.ElU% L (HDFC) §%
X 2 wrdi we §%
o 3. o e e, (iciCn) ¥
P R CERERECED

Question ID : 8161613527
Status : Answered
Chosen Option : 4

Q.12 3 2020 7 P RUMTF oOR, _ nfganait & 3w fhde & sfaema #, it oft
afga e gR1 Aad Sifte g Hoa 31 ReBISuR®
Ans X 1. SigH deT
W 2. s Tt
75 3. THE IR
75 4. fard =

Question ID : 8161613543
Status : Answered
Chosen Option : 3

Q.13 3y WA WS A AHSE WA YT & Ugd T-I IS $T A1 Ja1g¢]
Ans " 1. ST g¥ae (Dr. Harsh Vardhan)

( 2. &1, I WIeARE (Dr. Soumya Swaminathan)
75 3. 1. TSHd WM (Dr. Michael Ryan)
25 4. ST SITHSHHT SIHT& (Dr. Zsuzsanna Jakab)

Question ID : 8161613538
Status : Answered
Chosen Option : 2
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Q.14 YR IRPR 7 1948 | AR N dleH I ded &I 34 AfUSR # feram um
Ans K1WEIT|?*PR

K 2.5

X 3.

W 4 R

Question ID : 8161613540
Status : Answered
Chosen Option : 3

Q.15 YT YRA & IS Y U= § IR Rareal B % ¥ § ST ST el

Ans B 1 ST
o 2. T
X 3. Pt
X 4@
Question ID : 8161613537
Status : Answered
Chosen Option : 1
Q.16 JfferAfewel MRMATd ga (APT) &1 faw fore™ far?
Ans o 1 STE @ M
2K 2. SFTE TR
75 3.3 @ TR
X 4. frea
Question ID : 8161613521
Status : Answered
Chosen Option : 4
Q.17 yquIE TH PR 21

Ans  off 1 TEICRIT (mood) Teid
X 2. fausyaY (dissociative)
25 3. TR (schizophrenic)
?( 4. QPRI (somatoform)

Question ID : 8161613529
Status : Answered
Chosen Option : 1

Q18 W gIPd U UM UIg (muscular foot) P TgTadT | gl 81
Ans B 1 SifeftrRr

W 2 9@

75 3. Fgan

75 4.9

Question ID : 8161613530
Status : Answered
Chosen Option : 3
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Ans

Q.19 T3 Faearor 2019 H fFrafer@d # @ f5g Iy &) T =5 Iy T foar mar 412

X 1. ey
K 2. IwES
W 3. s<iTTg
K 4. FREs

Question ID : 8161613524
Status : Answered
Chosen Option : 1

Ans

Q.20 YRd ¥ Ugd N AT fEHH TP (Chief of Defence Staff) BT A2

25 1. ST AAER
75 2. 3rfa S
< 3. T TR IR
W 4 fftm e

Question ID : 8161613539
Status : Answered
Chosen Option : 1

Q.21

Ans

m%mw@ﬁwm%@wmmmﬁ%

TP TRUNS YRAH @ g, Rorad guehe fafie ver $t s nfafafiai

25 1. g Tt (Yubi Lakpi)
x 2. Wqﬁﬁ?ﬁ (Nadan Panthu Kali)
o 3. TGS (Mallakhamb)

75 4. FARTACE (Kalaripayattu)

Question ID : 8161613542
Status : Not Answered
Chosen Option : --

Q.22 PEfifEd d & $19 91 v WA TIPS IS ST IR0 872

Ans & 1. femsigmad

X 2.9

o 3. yEEar

75 4. sidft-qme

Question ID : 8161613534
Status : Not Answered
Chosen Option : --

Q.23 T et 3R Higwe 3reht R E =l & T
Ans  off 1 e Fr TiRaS

75 2. 91 TR faas
< 3. ey iR
X 4. T reTad 1

Question ID : 8161613536
Status : Not Answered
Chosen Option : --
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YR fpdpex I
Ans  of 1 foSTTRE

X 2.
X 3. dar
X 4.7

Q.24 P HERTSIT YR fpobe bela a1 (BCCI) & 3eae & ¥ § Ya1 3 a1d g

Question ID : 8161613544
Status : Not Answered
Chosen Option : --

Q.25 RyA-3féaars (sino-artrialnode) #AfR@g el
Ans B 1. TR

v 2.5
/X 3. R
K 4. T

www.HaryanaJobs.in

Question ID : 8161613531
Status : Not Answered
Chosen Option : --
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